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BOOKS - SELINA MATHS (ENGLISH)

SECTION AND MID-POINT FORMULA

Exercise 13 A

1. Calculate the co-ordinates of the point P

which divides the line segment joining: 

A (1, 3) and B (5,9) in the ratio 1 : 2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3qvf8ocRREFf


Watch Video Solution

2. Calculate the co-ordinates of the point P

which divides the line segment joining: 

A (-4, 6) and B (3, -5) in the ratio 3:2.

Watch Video Solution

3. The ratio in which the line segment joining

(2, -3) and (5,6) is divided by the x- axis is :

Watch Video Solution

https://dl.doubtnut.com/l/_3qvf8ocRREFf
https://dl.doubtnut.com/l/_uDtX5mHRxJz0
https://dl.doubtnut.com/l/_anFxj8B0jtVo


4. In what ratio is the line joining (2, -4) and

(-3, 6) divided by the y-axis ?

Watch Video Solution

5. In what ratio does the point (1, a) divide the

join of (-1, 4) and (4, -1) ? Also, find the value of

a.

Watch Video Solution

https://dl.doubtnut.com/l/_anFxj8B0jtVo
https://dl.doubtnut.com/l/_lM2vXpOZp8QN
https://dl.doubtnut.com/l/_WMXCB06PHidf
https://dl.doubtnut.com/l/_uhoIDWJAQHIc


6. In what ratio does the point (a, 6) divide the

join of (-4, 3) and (2,8) ? Also, find the value of

a

Watch Video Solution

7. In what ratio is the join of (4, 3) and (2, -6)

divided by the x-axis ? Also, find the co-

ordinates of the point of intersection.

Watch Video Solution

https://dl.doubtnut.com/l/_uhoIDWJAQHIc
https://dl.doubtnut.com/l/_oqh8KLQ8fBfB


8. Find the ratio in which the join of (-4, 7) and

(3, 0) is divided by the y-axis. Also, find the co-

ordinates of the point of intersection.

Watch Video Solution

9. Points A, B, C and D divide the line segment

joining the point (5, -10) and the origin in five

equal parts. Find the co ordinates of B and D.

Watch Video Solution

https://dl.doubtnut.com/l/_kXa7y1P5IoZn
https://dl.doubtnut.com/l/_KkChhtDHOAZa
https://dl.doubtnut.com/l/_SVDB3rYMSbTP


10. The line joining the points A (-3, -10) and B

(-2, 6) is divided by the point P such that

 Find the co-ordinates of P.

Watch Video Solution

= .
PB

AB

1

5

11. P is a point on the line joining A (4, 3) and B

(-2, 6) such that 5AP = 2BP. Find the

coordinates of P.

Watch Video Solution

https://dl.doubtnut.com/l/_SVDB3rYMSbTP
https://dl.doubtnut.com/l/_dT8USbCYVeVM
https://dl.doubtnut.com/l/_DiRUrXsH47xB


12. Calculate the ratio in which the line joining

the points (-3, -1) and (5, 7) is divided by the

line x = 2.

Watch Video Solution

13. Calculate the ratio in which the line

segment A(6, 5) and B(4, -3) is divided by the

line y = 2.

Watch Video Solution

https://dl.doubtnut.com/l/_DiRUrXsH47xB
https://dl.doubtnut.com/l/_QKaUxFqhH1rN


14. The point P (5,-4) divides the line segment

AB, as shown in the figure, P (5, 4) in the ratio

2:5. Find the co-ordinates of points A and B.

Given AP is smaller than BP. 

Watch Video Solution

https://dl.doubtnut.com/l/_8RcbQk0tWJoI


15. Find the co-ordinates of the points of tri

section of the line joining the points (-3, 0)

and (6, 6).

Watch Video Solution

16. Show that the line segment joining the

points (-5, 8) and (10, -4) is trisected by the co-

ordinate axes.

Watch Video Solution

https://dl.doubtnut.com/l/_8RcbQk0tWJoI
https://dl.doubtnut.com/l/_t5aYzVj8qTJz
https://dl.doubtnut.com/l/_2Sq5ZbWG6BrS


17. Show that A (3,-2) is a point of trisection of

the line-segment joining the points (2, 1) and

(5, -8).

Watch Video Solution

18. Given a line segment AB joining the points

A (-4, 6) and B (8, -3). Find : 

(iii) the length of AB.

Watch Video Solution

https://dl.doubtnut.com/l/_2Sq5ZbWG6BrS
https://dl.doubtnut.com/l/_B2BP3HFjnbLA
https://dl.doubtnut.com/l/_jo9BJMtLIIuy


19. If A = (-4, 3) and B = (8,-6) 

In what ratio is the line joining A and B,

divided by the x-axis ?

Watch Video Solution

20. The line segment joining the points M (5,

7) and N (-3, 2) is intersected by the y-axis at

point L. Write down the abscissa of L. Hence,

find the ratio in which L divides MN. Also, find

the co-ordinates of L.

https://dl.doubtnut.com/l/_kO8YwYZHfmQj
https://dl.doubtnut.com/l/_rWLbVGanwPle


Watch Video Solution

21. A (2, 5), B (-1, 2) and C (5, 8) are the co-

ordinates of the vertices of the triangle ABC.

Points P and Q lie on AB and AC respectively,

such that : AP: PB = AQ: QC = 1:2. 

Calculate the co-ordinates of P and Q.

Watch Video Solution

22. A (2, 5), B (-1, 2) and C (5, 8) are the co-

ordinates of the vertices of the triangle ABC.

https://dl.doubtnut.com/l/_rWLbVGanwPle
https://dl.doubtnut.com/l/_CNGMyw55NMFi
https://dl.doubtnut.com/l/_EdTzbeaYpoWV


Points P and Q lie on AB and AC respectively,

such that : AP: PB = AQ: QC = 1:2. 

Show that : .

Watch Video Solution

PQ = BC
1

3

23. A (-3, 4), B (3, -1) and C (-2, 4) are the

vertices of a triangle ABC. Find the length of

line segment AP, where point P lies inside BC,

such that BP: PC = 2 : 3.

Watch Video Solution

https://dl.doubtnut.com/l/_EdTzbeaYpoWV
https://dl.doubtnut.com/l/_aDn5Fb7WbBou
https://dl.doubtnut.com/l/_rMGXggyc4mQ1


24. The line segment joining A(2, 3) and B6, -5)

is intercepted by x-axis at the point K. Write

down the ordinate of the point K. Hence, find

the ratio in which K divides AB. Also, find the

co-ordinates of the point K.

Watch Video Solution

25. The line segment joining A(4, 7) and B(-6,

-2) is intercepted by the y-axis at the point K.

Write down the abscissa of the point K. Hence,

https://dl.doubtnut.com/l/_rMGXggyc4mQ1
https://dl.doubtnut.com/l/_1AphEgf1P9wR


find the ratio in which K divides AB. Also, find

the co-ordinates of the point K.

Watch Video Solution

26. The line joining P(-4, 5) and Q(3, 2)

intersects the y-axis at point R. PM and QN are

perpendiculars from P and Q on the x-axis.

Find: 

the ratio PR : RQ

Watch Video Solution

https://dl.doubtnut.com/l/_1AphEgf1P9wR
https://dl.doubtnut.com/l/_IhBMIoPhEZLp
https://dl.doubtnut.com/l/_nS2pF44RWmc0


27. The line joining P(-4, 5) and Q(3, 2)

intersects the y-axis at point R. PM and QN are

perpendiculars from P and Q on the x-axis.

Find: 

the co-ordinates of R.

Watch Video Solution

28. The line joining P(-4, 5) and Q(3, 2)

intersects the y-axis at point R. PM and QN are

perpendiculars from P and Q on the x-axis.

https://dl.doubtnut.com/l/_nS2pF44RWmc0
https://dl.doubtnut.com/l/_3LC644AzeFaf


Find: 

the area of the quadrilateral PMNQ.

Watch Video Solution

29. In the given figure, line APB meets the x-

axis at point A and y-axis at point B. P is the

point (-4, 2) and AP : PB = 1 : 2. Find the co-

https://dl.doubtnut.com/l/_3LC644AzeFaf
https://dl.doubtnut.com/l/_wcm3QoI3cZYs


ordinates A and B . 

Watch Video Solution

30. Given a line segment AB joining the points

A (-4, 6) and B (8, -3). Find : 

https://dl.doubtnut.com/l/_wcm3QoI3cZYs
https://dl.doubtnut.com/l/_TzOVLCXUaLOr


(i) the ratio in which AB is dividend by the Y-

axis.

Watch Video Solution

31. Given a line segment AB joining the points

A (-4, 6) and B (8, -3). Find : 

(ii) find the coordinates of the point of

intersection. Divided by y-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_TzOVLCXUaLOr
https://dl.doubtnut.com/l/_QasQqXvNi88Q


32. Given a line segment AB joining the points

A (-4, 6) and B (8, -3). Find : 

(iii) the length of AB.

Watch Video Solution

33. If P (9a-2,-b) divides line segment joining A

(3a+1,-3) and B(8a,5) in the ratio , then find

the values of a and b.

Watch Video Solution

3: 1

https://dl.doubtnut.com/l/_HvMvsowYY0UJ
https://dl.doubtnut.com/l/_VOyrPnzSQtem


Exercise 13 B

1. Find the mid-point of the line segment

joining the points : 

(-6, 7) and (3, 5)

Watch Video Solution

2. Find the mid-point of the line segment

joining the points : 

(5, -3) and (-1, 7)

Watch Video Solution

https://dl.doubtnut.com/l/_aJYxolUEs0cY
https://dl.doubtnut.com/l/_DEiY2wrxbVZs


3. Points A and B have co-ordinates (3, 5) and

(x, y) respectively. The mid-point of AB is (2, 3).

Find the values of x and y.

Watch Video Solution

4. A (5, 3), B (-1, 1) and C (7, -3) are the vertices

of triangle ABC. If L is the mid-point of AB and

M is the mid-point of AC, show 

that : .LM = BC
1

2

https://dl.doubtnut.com/l/_DEiY2wrxbVZs
https://dl.doubtnut.com/l/_zBcFZSuExBT7
https://dl.doubtnut.com/l/_iZBoQccTjgQD


Watch Video Solution

5. Given M is the mid-point of AB, find the co-

ordinates of: 

A, if M = (1, 7) and B = (-5, 10),

Watch Video Solution

6. Given M is the mid-point of AB, find the co-

ordinates of: 

B, if A = (3,-1) and M = (-1, 3).

https://dl.doubtnut.com/l/_iZBoQccTjgQD
https://dl.doubtnut.com/l/_rA8OXsWEj8C4
https://dl.doubtnut.com/l/_wgxMgOHicwfq


Watch Video Solution

7. P (-3, 2) is the mid point of line segment AB

as shown in the given figure. Find the P (-3,2)

co-ordinates of points A and B. 

Watch Video Solution

https://dl.doubtnut.com/l/_wgxMgOHicwfq
https://dl.doubtnut.com/l/_zQtRSSN4mk2L


8. In the given figure, P (4, 2) is mid-point of

line segment AB. Find the co-ordinates of A

and B. 

Watch Video Solution

https://dl.doubtnut.com/l/_zQtRSSN4mk2L
https://dl.doubtnut.com/l/_nRX9tGbAWuN7


9. (-5, 2), (3, -6) and (7, 4) are the vertices of a

triangle. Find the length of its median through

the vertex (3,-6).

Watch Video Solution

10. Given a line ABCD in which AB = BC = CD, B =

(0, 3) and C = (1, 8). Find the co-ordinates of A

and D.

Watch Video Solution

https://dl.doubtnut.com/l/_j6gT5KrO4hVO
https://dl.doubtnut.com/l/_1QMz8ubKsjBo
https://dl.doubtnut.com/l/_VDU6UEAV89vm


11. One end of the diameter of a circle is (-2, 5).

Find the co-ordinates of the other end of it, if

the centre of the circle is (2, -1).

Watch Video Solution

12. A (2, 5), B (1, 0), C (-4, 3) and D (-3, 8) are the

vertices of quadrilateral ABCD. Find the co-

ordinates of the mid-points of AC and BD. Give

a special name to the quadrilateral.

Watch Video Solution

https://dl.doubtnut.com/l/_VDU6UEAV89vm
https://dl.doubtnut.com/l/_U3ZPis9aJWRS


13. P (4, 2) and Q (-1, 5) are the vertices of

parallelogram PQRS and (-3, 2) are the co-

ordinates of the point of intersection of its

diagonals. Find co-ordinates of R and S.

Watch Video Solution

14. A (-1, 0), B (1, 3) and D (3, 5) are the vertices

of a parallelogram ABCD. Find the co-ordinates

of vertex C.

Watch Video Solution

https://dl.doubtnut.com/l/_945f55sYqYDY
https://dl.doubtnut.com/l/_CILRCFaPxoUG


15. The points (2, -1), (-1, 4) and (-2, 2) are mid-

points of the sides of a triangle. Find its

vertices.

Watch Video Solution

16. Points A (-5, x), B (y, 7) and C (1, -3) are

collinear (i.e. lie on the same straight line)

such that AB = BC. Calculate the values of x

and y.

Watch Video Solution

https://dl.doubtnut.com/l/_CILRCFaPxoUG
https://dl.doubtnut.com/l/_eA86UwVXvLem
https://dl.doubtnut.com/l/_okexYuclBbwp


17. Points P (a, -4), Q (-2, b) and R (0, 2) are

collinear. If lies between P and R, such that PR

= 2QR, calculate the values of a and b.

Watch Video Solution

18. Calculate the co-ordinates of the centroid

of the triangle ABC, if A = (7, -2), B = (0, 1) and C

= (-1, 4).

Watch Video Solution

https://dl.doubtnut.com/l/_okexYuclBbwp
https://dl.doubtnut.com/l/_QHRRI4UoN4no
https://dl.doubtnut.com/l/_R4UhSzPFLf1f


19. he co-ordinates of the centroid of a

triangle PQR are (2, -5). If Q = (-6, 5) and R = (11,

8), calculate the co-ordinates of vertex P.

Watch Video Solution

20. A (5, x), B (-4, 3) and C (y, -2) are the vertices

of the triangle ABC whose centroid is the

origin. Calculate the values of x and y.

Watch Video Solution

https://dl.doubtnut.com/l/_R4UhSzPFLf1f
https://dl.doubtnut.com/l/_7TZuVIMUWjf6
https://dl.doubtnut.com/l/_DUDm9QgFpNge


Exercise 13 C

1. Given a triangle ABC in which A = (4, -4) B =

(0,5) and C = (5, 10). A point P lies on BC such

that BP : PC = 3 : 2. Find the length of line

segment AP.

Watch Video Solution

2. A(20, 0) and B (10, -20) are two fixed points.

Find the co-ordinates of the point P in AB such

https://dl.doubtnut.com/l/_uJWMZcU27LOL
https://dl.doubtnut.com/l/_ekolmdBjAd9u


that : 3PB = AB. Also , find the co-ordinates of

some other Point Q in AB such that : AB = 6 AQ.

Watch Video Solution

3. A(-8, O), B(0, 16) and C(0, 0) are the vertices

of a triangle ABC. Point P lies on AB and Q lies

on AC such that AP : PB = 3 : 5 and AQ: QC = 3:5.

Show that : PQ =  BC.

Watch Video Solution

3

8

https://dl.doubtnut.com/l/_ekolmdBjAd9u
https://dl.doubtnut.com/l/_beeoke4M3Nxh


4. Find the co-ordinates of points of trisection

of the line segment joining the point (6, -9)

and the origin.

Watch Video Solution

5. A line segment joining  and

B(a, 5) is divided in the ratio 1: 3 at P, the point

where the line segment AB intersects the y-

axis. 

Calculate the value of a'.

A( − 1, )
5

3

https://dl.doubtnut.com/l/_TRLTXUN9P400
https://dl.doubtnut.com/l/_FNWmUOWhETo6


Watch Video Solution

6. A line segment joining  and

B(a, 5) is divided in the ratio 1: 3 at P, the point

where the line segment AB intersects the y-

axis. 

Calculate the co-ordinates of 'P'.

Watch Video Solution

A( − 1, )
5

3

7. In what ratio is the line joining A(0, 3) and

B(4, -1) divided by the x-axis ? 

https://dl.doubtnut.com/l/_FNWmUOWhETo6
https://dl.doubtnut.com/l/_sVCARR69JwYp
https://dl.doubtnut.com/l/_RGGeKsDn3BBq


Write the co-ordinates of the point where AB

intersects the x-axis.

Watch Video Solution

8. The mid-point of the A segment AB, as

shown in diagram, is C (4, -3). (4, -3) Write

https://dl.doubtnut.com/l/_RGGeKsDn3BBq
https://dl.doubtnut.com/l/_dSk1aeXJDSSF


down the co ordinates of A and B. 

Watch Video Solution

9. AB is a diameter of a circle with centre C =

(-2, 5). If A = (3, -7). Find 

https://dl.doubtnut.com/l/_dSk1aeXJDSSF
https://dl.doubtnut.com/l/_2j6NyyyQ4HgB


the length of radius AC

Watch Video Solution

10. AB is a diameter of a circle with centre C =

(-2, 5). If A = (3, -7). Find 

the coordinates of B.

Watch Video Solution

11. Find the co-ordinates of the centroid of a

triangle ABC whose vertices are : 

https://dl.doubtnut.com/l/_2j6NyyyQ4HgB
https://dl.doubtnut.com/l/_W0OMvUsAUJiW
https://dl.doubtnut.com/l/_Lz0Q5kLUM7Vd


A(-1, 3), B(1, -1) and C(5, 1)

Watch Video Solution

12. The mid-point of the line segment joining

(4a, 23) and (-4, 3b) is (2, -2a). Find the values

of a and b

Watch Video Solution

13. The mid-point of the line segment joining

(2a, 4) and (-2, 2b) is (1, 2a + 1). Find the values

https://dl.doubtnut.com/l/_Lz0Q5kLUM7Vd
https://dl.doubtnut.com/l/_m6e0VSRrPPeu
https://dl.doubtnut.com/l/_Q95xHynsSxrp


of a and b.

Watch Video Solution

14. Write down the co-ordinates of the point P

that divides the line joining A(-4, 1) and B(17,

10) in the ratio 1:2.

Watch Video Solution

15. write down the coordinate of the point p

that divides the line joining A(-4,1) and B(17,10)

https://dl.doubtnut.com/l/_Q95xHynsSxrp
https://dl.doubtnut.com/l/_5OrM6H0LlerC
https://dl.doubtnut.com/l/_9t7xtcGA7hu7


in the ratio 1:2 

Calculate the distance OP, where O is the

origin.

Watch Video Solution

16. write down the coordinate of the point p

that divides the line joining A(-4,1) and B(17,10)

in the ratio 1:2 

In what ratio does the y-axis divide the line AB

?

Watch Video Solution

https://dl.doubtnut.com/l/_9t7xtcGA7hu7
https://dl.doubtnut.com/l/_6x4hz951cQKB


17. Prove that the points A(-5, 4), B(-1, -2) and

C(5, 2) are the vertices of an isosceles

rightangled triangle. Find the co ordinates of

D so that ABCD is a square.

Watch Video Solution

18. M is the mid-point of the line segment

joining the points A(-3, 7) and B(9, -1). Find the

co-ordinates of point M. Further, if R(2, 2)

https://dl.doubtnut.com/l/_6x4hz951cQKB
https://dl.doubtnut.com/l/_ROKk68W01KLm
https://dl.doubtnut.com/l/_u7X46UMwUZd1


divides the line segment joining M and the

origin in the ratio p : q, find the ratio p : q.

Watch Video Solution

19. Calculate the ratio in which the line joining

A (-4, 2) and B (3, 6) is divided by point P (x, 3).

Also, find (i) x

Watch Video Solution

https://dl.doubtnut.com/l/_u7X46UMwUZd1
https://dl.doubtnut.com/l/_Yp9eNgwP9w4u


20. Determine the ratio in which the line 2x +y

4 = 0 divides the line
 segment joining the

points A(2, 2) and B(3,7).

Watch Video Solution

21. If the abscissa of a point P is 2, find the

ratio in which this point divides the line

segment joining the points (-4, 3) and (6,3).

Also, find the co-ordinates of point P.

Watch Video Solution

https://dl.doubtnut.com/l/_BKRyut7KffAM
https://dl.doubtnut.com/l/_90HFwHw6jbnu


22. The line joining the points (2, 1) and (5, -8)

is trisected at the points P and Q. If point P lies

on the line 2x - y + k = 0, find the value of k.

Also, find the co-ordinates of point Q.

Watch Video Solution

23. Find the image of the point A(5, -3) under

reflection in the point P(-1, 3).

Watch Video Solution

https://dl.doubtnut.com/l/_90HFwHw6jbnu
https://dl.doubtnut.com/l/_wkrBFJDRS4je
https://dl.doubtnut.com/l/_Zug8WR52Syd7


24. M is the mid-point of the line segment

joining the points A(0, 4) and B(6, 0). M also

divides the line segment OP in the ratio 1:3.

Find : 

 


co-ordinates of M

https://dl.doubtnut.com/l/_cxNqTGPil8gw


Watch Video Solution

25. M is the mid-point of the line segment

joining the points A(0, 4) and B(6, 0). M also

divides the line segment OP in the ratio 1:3.

Find : 

 


co-ordinates of P

https://dl.doubtnut.com/l/_cxNqTGPil8gw
https://dl.doubtnut.com/l/_RKGv0lFeEmmc


Watch Video Solution

26. M is the mid-point of the line segment

joining the points A(0, 4) and B(6, 0). M also

divides the line segment OP in the ratio 1:3.

Find : 

 


length of BP

https://dl.doubtnut.com/l/_RKGv0lFeEmmc
https://dl.doubtnut.com/l/_3aLXSqrwEMUu


Watch Video Solution

27. A (-4, 2), B(0, 2) and C(-2,-4) are vertices of a

triangle ABC. P, Q and R are mid-points of sides

BC, CA and AB respectively. Show that the

centroid of  PQR is the same as the centroid

of  ABC.

Watch Video Solution

Δ

Δ

https://dl.doubtnut.com/l/_3aLXSqrwEMUu
https://dl.doubtnut.com/l/_RzsmZpLJCsUC


Questions

28. A(3, 1), B(y, 4) and C(1, x) are vertices of

triangle ABC and G(3, 4) is its centroid. Find

the values of x and y. Also, find the length of

side BC.

Watch Video Solution

1. Find the co-ordinates of point P which

divides the line joining A (4,-5) and B (6,3) in

https://dl.doubtnut.com/l/_N7cjZyzcIeWn
https://dl.doubtnut.com/l/_IsmYieXUHfkb


the ratio 2 : 5.

Watch Video Solution

2. Find the ratio in which the point (5,4)

divides the line joining points (2,1) and (7,6)

Watch Video Solution

3. In what ratio is the joining the points (4,2)

and (3,-5) divided by the x-axia ? Also, find the

co-ordinates of the point of intersection.

https://dl.doubtnut.com/l/_IsmYieXUHfkb
https://dl.doubtnut.com/l/_2Ps5C5USKr8P
https://dl.doubtnut.com/l/_JIbqmp0KVt7D


Watch Video Solution

4. Calcuate the ratio in which the line joining

the points (4,6) and (-5,4) is divided by the line

y = 3. Also, find the co-ordinates of the point of

intersection.

Watch Video Solution

5. The origin O,B (-6,9) and C (12, -3) are vertices

of triangle OBC, Point P divides OB in the ratio

https://dl.doubtnut.com/l/_JIbqmp0KVt7D
https://dl.doubtnut.com/l/_bOweWVDP1wNx
https://dl.doubtnut.com/l/_2VSvLHCjEYME


1 : 2 and point Q divides OC in the ratio 1 : 2

Find the co-ordinates of points P and Q. Also

show that  BC.

Watch Video Solution

PQ =
1

3

6. Find the co-ordinates of the points of

trisection of the segment joining the points A

(6,-2) and (-8,10). 

Watch Video Solution

https://dl.doubtnut.com/l/_2VSvLHCjEYME
https://dl.doubtnut.com/l/_nY3w3AClHKSW


7. Show that P (3,m -5) is a point of trisection

of the line segment joining the points A (4,-2)

and B (1, 4). Hence, find the value of 'm'.

Watch Video Solution

8. If the point P(-1,2) divides the join of points

A(2, 5) and B(a, b) in the ratio 3 : 4, find the

value of .

Watch Video Solution

a × b − a

https://dl.doubtnut.com/l/_nY3w3AClHKSW
https://dl.doubtnut.com/l/_pH6QQhpKxqmB
https://dl.doubtnut.com/l/_QWtNlUuZyhs6


9. Find the co-ordinates of the mid point of

the line segment joining the points P (4, -6)

and (-2, 4).

Watch Video Solution

10. The mid - point of line segment AB (shown

in the diagram) is (-3, 5), Find the co-ordinates

https://dl.doubtnut.com/l/_oUDLBjwjvv1t
https://dl.doubtnut.com/l/_p5yYzScAdkmc


of A and B. 

.

Watch Video Solution

https://dl.doubtnut.com/l/_p5yYzScAdkmc


11. Points A(7, -4), B(-5, 5) and C(-3, 8) are

vertices of triangle ABC, Find the length of its

median through vertex A.

Watch Video Solution

12. A (14, -2), B(6, -2) and D (8,2) are the three

vertices of a parallelgram ABCD. Find the co-

ordinates of the fouth vertex C.

Watch Video Solution

https://dl.doubtnut.com/l/_qfU0CqePu56E
https://dl.doubtnut.com/l/_WAYK3V86oWZ2
https://dl.doubtnut.com/l/_YFq9Ionjj2uF


13. The mid-point of the segment joining (3m,

6) and (-4, 3n) is (1, 2m, -1). Find the values of m

and n.

Watch Video Solution

14. The point A(3, - 5) is reflected in the point P

(-4, 3) as point A'. Find the co-ordinates of

point A'.

Watch Video Solution

https://dl.doubtnut.com/l/_YFq9Ionjj2uF
https://dl.doubtnut.com/l/_Ot35QU7I0Xsq
https://dl.doubtnut.com/l/_2QqD3hI0ilyp


15. If the mid-point of the segment joining the

points A(3,4) and B(k,6) is (x,y) and x + y = 10,

find the value of k and the length of the line

segment AB.

Watch Video Solution

16. Find the co-ordinates of the point of

intersection of the medians of triangle ABC,

given A = (-2, 3), B = (6, 7) and C = (4,1).

Watch Video Solution

https://dl.doubtnut.com/l/_2QqD3hI0ilyp
https://dl.doubtnut.com/l/_JYDYaJ1zDMi7
https://dl.doubtnut.com/l/_OyT8i21h2Xxp


17. ABC is a triangle and G (4, 3) is the centroid

of the triangle. If A = (1, 3), B = (4, b) and C = (a,

1), find 'a' and 'b'. 

Find the length of side BC.

Watch Video Solution

https://dl.doubtnut.com/l/_OyT8i21h2Xxp

